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Scientific notation 7.33 = 1070«
3.7x107-1 =037
2.04 -12.7 = 10.6 with less decimal places
Order of magnitude for 12 = 101
Newest and oldest definition Second
a force of 40N act to south, other one 30N act to west, the resultant equals...
50N, south of east
*50N, south of west*
70N, south of west
All answers are incorrect
a ruler with mm and cm divisions, the result of a measurement is 11.8+_0.1 cm, the
uncertainty is........
Tcm
*0.1cm*
10cm
0.8cm
A man buy a car cost 98000, the order of magnitude of this number is......... .
370
4710
*5A10*
6710
How many significant figures in (0.00505)?

Vector is like.......... o
Speed



Time
Distance
*Velocity*
Vector is like...........
Temperature
work
Mass
*acceleration*
Vector is represented as............
Tringle
Square
*arrow*
If a box pulled vertically up with rope. The tension is 140 N. the horizontal component is
ON
70N
100 N
140 N
sig-fig _,s‘z..oi
2002
055
1002
12.7 -2.04. =
10.66
10.7
11.0
Basic quantity temperature stander unit = Kalvin
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1/Dimension of (mass/area) = MLA-2
2/Dimension of (mass/volume) =MLA-3
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1yd.=3ft. TFt=12 in. How much yard in 360 in.
36 yd.
10 yd.
100 yd.



The uncertainty for 8.8 +_0.1 is
0.1

0.01

0.2

0.02

Sig-fig 0.00670 = 3

sig-fig 40,3330 = 5

measurement 11.2 ;89 cm gmm J douwudo 8 oue aws wilS 131 il Jlgw wils
L=11.2+-1%

L=11.2+-2%

L=11.2+-3%

L=11.2+-5%
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yd. 3l

mole Jgo

F1=15 N west
F2=9 N east
F3=3 N east
answer = 3N west

Which of the following is NOT an S| unit?
candela

Kilogram

Pound

Meter

Order of magnitude 10101 = 1074
P.U 4.09

1%

2%

0.01

0.25%
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No. Derived Quantity Dimension
1. Velocity L] [T]?

2. Acceleration L] [T]?

3. Force IM] [L] [T]?
4. Area L%

5. Volume L P

6. Density IM] [L] -3
7. Pressure IM] [L][T]?
8. Work IM] [L]?[T]?
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